MAT 1Too

LAG
INaFor= '
N
<N -
Lﬁ INAR
=EM

15N
1-3 wﬂﬂ;
0N, 21
Merk:: Opps -
o Aelckn ennoy

b el



V= Z o 05(16366) 1o
@ 062}5)“73 @\ OGZEB)%ZT

= 43,50+ 4302

= R9e.63
W ' —
- (iwt 062153 i e ( 1.069396 > dn e
0625 (1.5625)"? Oizsaee /= 112.51
g wj&,) = @% %’? 23l

ke)ﬁ; NV (,V > ) A(t) \VQ:HZ

o QJ‘T’C k&—t ~rb

@:—;,H
|







o ttk odinar (Mwuh&) %mm/







ed B - r-s%;
A@%} if? Goz = c. -l j‘?% "




dza 54.1 + ABTROAR /a
- \\ M &0

frnd = 00942 % 200,90 = 8820 p ined
F RR20 [@W - ﬂ =

. 6047,

Q“?Z@M 242 w%} + (357304% (2600 0002 Va
Zoeo o0 ~ 2160, 600 -4

3. ocn

- {%4533 ¥ 4413648 }% )




TR -
(1;4'[3‘048 = 4 = 0478 /

I .60 —_—

Zecoweo(L03) = BZTR.124
Vod &% Fw 1=3; C%f (32’5@3 Rf= 210060 )< |18 I8y

j. 17% i gi !/3 o Sl
-— = O‘ 095% \. AL

L i‘; @%ﬁ ‘Fﬁ uip%\‘,bs»% !BQL Sou é@?@ﬂ;@ oversloL




O

>

T




2 40

2.30 A

4,97

ded

W=10; (W)= L( »

(&

()

Ew)= b2o(z0)r0.20(s)= [0

bEW = u(0) = 2.20

E[Ww)l= 0200 (20)+0. 20l (i)
= (0,26 (a%)ﬁme(a.@a):ﬁ;ﬁj

o W) = (W)




. ECW) = .30 (SQ"H%é) = lo
WEG)]= b (o) = (1) oeco

NGO = 5 05+ 50159~ G
| = 2500 |

B(w) 4

20 |

Fvtw))=tzsen 4-
U’(\N)g foeso -

76 +—

= 120 >()




